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BH summary
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4) Favors small angle scattering  All true for CW too.



BH summary (ii)

Momentum relaxation time:
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(True for CW too)



Screened vs. unscreened
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4 CW approach treats unscreened Coulomb scattering.



Outline

1) Introduction
2) Transition rate

3) Characteristic times
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Fermi’s Golden Rule
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Recall BH transition rate
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CW transition rate
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Question about impact parameter
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Momentum relaxation time
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Can we specify a minimum angle, so that the integral does

not blow up?
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Maximum impact factor
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CW Momentum relaxation time
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CW Momentum relaxation time (ii)
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Just like the Brooks-Herring result.
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Questions?

1) Introduction
2) Transition rate

3) Characteristic times
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